How does TIF work for
Cities/Counties?

—|ncrement —Base

-

Whenthe TIF is
created the value

Growth invalue

iscappedat

whateveritis- this N
iswhereany \
growth goes

toward the

Increment and not l\
the Base. \
-

Funds
generated by
thelncrement
goto pay for
the project
not to the
original
levying
authorities
(schools,
community
colleges, etc.)

P

1 2 3 4 5

Year

6 ¥ B 9 10 11 12 13 14 15 16 17 18 19 20 21 22 25 24 25 26 27 2B 29 30

Funds
generated
by the Base
continue to
gotoall
levying
authorities




